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B.Sc. BIOTECHNOLOGY
FIFTH SEMESTER (SPECIAL REPEAT)
Industrial Fermentation

BBT —-501
( Use Separate Answer Scripts for Objective & Descriptive )
Duration : 3 hrs. Full Marks: 70
( PART-A: Objective )
Time : 20 min. Marks : 20
Choose the correct answer from the following: 1X20=20

1. Citric acid found in citrus fruit is

a. [norganic acid b. Organic acid
¢.Botha&b d. Very strong acid

2. What is the pore size of the filtration membrane o remove bacteria?
a.0.25 um b.0.22 um
c.0.27 pm d.0.26 pm

3. The levels of primary metabolites are regulated by
a. Feedback mechanism b. rDNA technology
¢. Incubating the microorganism in dark  d. Adding the inhibitors

4. Which among the following is used in wine production
a. E.coli b. Saccharomyces cerevisiae
c. Aspergillus niger . Thiomargarita
5. Hydroxylation reaction involves
a. Removal of Hydrogen (H) from the b. Removal of Hydroxyl group
substrate (OH) from the substrate

c. Addition of Hydrogen (H) to the substrate  d. Addition of Hydroxyl group
(OH) to the substrate

6. Which of the following is NOT the technique of preservation?

a. Storage on agar slant b. Storage under liquid nitrogen
¢. Dried cultures d. Storage in water
7. Which of the following is not a method of immobilization?
a. Entrapment b. Jonic bonding
c. Adsorption d. Encapsulation
8. The partial fermentation of green tea results in the formation of
a. Yoghurt b. Sauerkraut
¢. Kombucha d. Kefir
9. The purpose of aeration is to provide
a. The medium to organisms b. The carbon dioxide to organisms
¢. The oxygen to organisms d. The waler to organisms
11] USTM/COE/M-01
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